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SECTION-A

Very Short Answer Type Questions 10x2=20M

Answer All the Questions. Each Question carries 2 marks.
D0 (5, 4) %000 X% +y? +2ky =0 SyT:R8 hds $Y50p 6D 1 wowd K Dend §08)0b.
X2 +y2 —10x—10y + 25 =0 Sygo &yirg (L —2) @ng, G dp Do¥Smo 858908
X2 +y2 12X -6y +41=0, X* + y* +4x+ 6y —59 = 0 &3 SEre 565 S0 §808Y 0b.
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dx? dx =0Y $088e0 E50s50, S5K8 ESoirBsn.

SECTION-B

Short Answer Type Questions 5x4=20M

Answer Any Five Questions. Each Question carries 4 marks.
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S=x*+y’+2x+3y+1=0 H0080a50 S'=x"+y* +4x+3y+2=0 26&?;,2633@ fx*vz_éoé& Qg TgdR0M
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4% + Y2 —8x+2y +1=0 BE2)TR8 BTz gsm, rRgEs0, THoowBN, SEOED0 s,
2x% +y? =858 X —2y—4=0 38 d5rosEH0m &) 5)8) S HA0EG0H0 ELM 850,
4x% —9y* —8X—32 =0 @8HT°HOCErIE HTES0, (SR, THOORDD, 8 0EBN EHM LB,

IxTan‘lx dx,Xe R Dend Srsodon.
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SECTION-C

Long Answer Type Questions 5x7=35M

Answer Any Five Questions. Each question carries 7 marks.
(2,0),(0,1), (4,5) %805 (0,C) e sgasren (coneyclic) woxnd C dens dos ?
X2+ Y2 +22x—4y —100=0, X + y? — 22X+ 4y +100 = 0 S)Troso 506 9)50pe0 E8of K500,
sorsocho Y2 =4ax (a>0) 2 (% V)i (X2 Y2)r (Xar ¥3) Dohe $¢ hds Sydpes” 263
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(Sedes SFTOg0 ﬁ (yl - yz)(yz - y3)(y3 - yl)‘ %5.0300°1 @9 HrHod.
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